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Group-A
(Multiple Choice Type Question) 1 x 70=70
1. (Answer any Seventy )
(1) What is the rule of simple reflex agent?
a) Simple-action rule b) Condition-action rule

c¢) Both Simple-action rule & Condition-  d) None of these
action rule

(11) What are the composition for agents in artificial intelligence?
a) Program b) Architecture
c¢) Both Program & Architecture d) None of these

(111) Which is used to improve the agents performance?
a) Perceiving b) Learning

c) Observing d) None of these

(1v) How many types of agents are there in artificial intelligence?
a) 1 b)2
)3 d)4

(v) In which agent does the problem generator is present?
a) Learning agent b) Observing agent
c) Reflex agent d) None of these



(vi) If there are a limited number of unambiguous states of the environment,
then the nature of that environment is

a) Discrete b) Continuous

c) Static d) Dynamic

(vi1) Turing Test is used for

a) Measuring the success of an intelligent  b) Measuring the fault of an intelligent
behavior of a system behavior of a system

¢) Measuring the capacity of an intelligent d) None of these
behavior of a system

(viil) An ideal rational agent is capable of doing expected actions to optimize
its performance measure, based on

a) Its percept sequence and built-in b) Its percept sequence and built-in

knowledge base environment base
c) Its percept sequence and built-in d) None of these

performance base

(1x) Driving is belongs to which category of environment?
a) Discrete b) Continuous

¢) Static d) Dynamic

(x) Where one real and other artificial agents are simultaneously tested on the
basis of equal ground?

a) Utility based Test environment b) Turing Test environment

¢) Model based Test environment d) None of these
(x1) Which search strategy is also called as blind search?
a) Uninformed search b) Informed search

¢) Adversarial search d) All of these

(x11) The Set of actions for a problem in a state space is formulated by a



a) Intermediate state b) Initial state

¢) Successor function, which takes current d) None of these
action and returns next immediate state

(x111) Adversarial search uses which type of agent?
a) Co-operative multi-agent b) Competitive multi-agent

c¢) Co-operative single-agent d) Competitive single-agent
(x1v) The summation of initial state and goal state make a
a) Problem Space b) Problem instance

c¢) Problem Space Graph d) None of these

(xv) State space in artificial intelligence belongs to

a) complete problem b) your definition to a problem

c¢) Problem that you design d) Representing your problem with variable
and parameter

(xv1) Forward reasoning is .
a) Data driven b) Goal driven

c¢) Knowledge driven d) Resolution driven
(xvii) 1s an algorithm, a loop that continually moves in the
direction of increasing value that is uphill

a) Up-Hill Search b) Hill-Climbing

¢) None of these d) Reverse-Down- Hill search
(xvii1) Best-First search can be implemented using data structure

a) Queue b) Stack

¢) Priority Queue d) Circular Queue



(xix) What is the heuristic function of greedy best-first search?
a) f(n) != h(n) b) f(n) <h(n
¢) f(n) = h(n) d) f(n) > h(n)

(xx) Where does the value of alpha-beta search get updated?
a) Along the path of search b) Initial state itself

c) At the end d) None of these

(xx1) Adversarial search problems uses

a) Competitive Environment b) Cooperative Environment

c¢) Neither Competitive Environment nor ~ d) All of these
Cooperative Environment

(xx11) DFS i1s efficient and BFS is efficient
a) Space, Time b) Time, Space
c¢) Time, Time d) Space, Space

(xx111) Hill-Climbing approach stuck for the following reason(s)
a) Local maxima b) Ridges
c¢) Plateau d) All of these

(xx1v) For calculating objective function in 8 puzzle problem using A*
algorithm, estimated cost from current state to goal state is calculated as.

a) No of misplaced tiles b) No of correctly placed tiles
c¢) Depth of current state d) None of these

(xxv) Value of utility function for representing state space diagram for tic-tac-
toe are

a) 1,2,0 b) 1,-1,0
c) 1,1,1 d)-1,-1,0



(xxv1) BFS uses which data structure?
a) Stack b) Queue

c) Priority queue d) Linked list

(xxvii) The adjective “first-order” distinguishes first-order logic from
in which there are predicates having predicates or functions as

arguments, or in which one or both of predicate quantifiers or function
quantifiers are permitted.

a) Representational Verification b) Representational Adequacy
c¢) Higher Order Logic d) Inferential Efficiency

(xxviii) The deficiency in uniform Cost Search

a) It has no information on goal location.  b) It does not explore options in every
direction.

c¢) Hill climbing search d) None of these

(xx1x) Space complexity for Uniform Cost search

a) b)

b%(b: no. of node, d: depth) b%2(b: no. of node, d: depth)
c) d)

bd/3(b: no. of node, d: depth) bZd(b: no. of node, d: depth)

(xxx) The form by which Constraint satisfaction problems on finite domains are
solved

a) Search Algorithms b) Heuristic Search Algorithms
c¢) Greedy Search Algorithms d) All of these

(xxx1) Flexible Constraint Satisfaction Problems relax on
a) Constraints b) Current State
c¢) Initial State d) Goal State



(xxx11) Fuzzy logic is a form of

a) Two-valued logic b) Crisp set logic
¢) Many-valued logic d) Binary set logic

(xxxii1) “John is very intelligent”. This statement can be completely expressed
n

a) FOPL b) Fuzzy logic

c¢) Default logic d) Propositional logic
(xxx1v) The truth values of traditional set theory is and that of fuzzy set
1S i

a) Either O or 1, between 0 & 1 b) Between 0 & 1, either O or 1

c) Between 0 & 1, between 0 & 1 d) Either O or 1, either 0 or 1
(xxxv) Backward reasoning is

a) Data driven b) Goal driven

c¢) Knowledge driven d) Resolution driven

(xxxv1) The room temperature is hot. Here the hot (use of linguistic variable is
used) can be represented by

a) Fuzzy set b) Crisp set
c¢) Both fuzzy and crisp set d) None of these

(xxxv11) Semantic Networks 1s
a) A way of representing knowledge b) Data structure
c¢) Data type d) None of these

(xxxvii1) Graph used to represent semantic network is,
a) Undirected graph b) Directed graph
¢) Directed Acyclic graph (DAG) d) Complete graph



(xxx1x) The process by which the brain incrementally orders actions needed to
complete a specific task is referred as,

a) Unorder planning b) Partial order planning

c) Total order planning d) None of these

(x1) Explanation-Based Learning(EBL) is example of
a) Inductive learning b) Deductive learning

c¢) Supervised learning d) Unsupervised learning

(xl1) Classification is a classic example of
a) Semi-supervised learning models. b) Reinforcement learning models

¢) Supervised learning models. d) unsupervised learning models

(xli1) Regression is classic example of
a) Semi-supervised learning models. b) Reinforcement learning models

c) supervised learning models. d) unsupervised learning models
(xl111) Association is classic example of
a) Semi-supervised learning models. b) Reinforcement learning models

c) supervised learning models. d) unsupervised learning models

(x11iv) Which among the following is used to represent knowledgebase?

a) Logic b) Frame

¢) Semantic net d) All of these
(xIv) transforms the fuzzy set obtained by the inference engine into a
crisp value.

a) defuzzification Module b) knowledge base

c¢) both of these d) None of these

(xIv1) starts with a general statement and examines the possibilities to



reach a specific, logical conclusion.
a) Deductive Reasoning b) Inductive Reasoning

c¢) Auditory Learning d) None of these

(xIvi1) "All women of age above 65 years are grandmothers. Rina is 70 years.

Therefore, Rina is a grandmother." it belongs to
a) Deductive Reasoning b) Inductive Reasoning
c¢) Auditory Learning d) None of these

(xlvii) The difference between procedural knowledge and declarative
knowledge is based on

a) Procedural knowledge involves facts and b) Procedural knowledge is based on
concepts, while declarative knowledge observation, while declarative knowledge
involves explanation of how something is  involves understanding oneself.

done.

¢) Procedural knowledge involves how d) Procedural knowledge involves
something is done, while declarative understanding oneself, while declarative
knowledge involves facts and concepts. knowledge is based on observation.

(xlix) NLP (with respect of Al) stands for
a) Natural Linear Processing b) Natural Language Processing

c¢) Natural Linear Programming d) Natural Language Programming
(I) How many components does Natural Language Processing (NLP) has?

a)2 b)3

c)4 d)5

(l1) A Horn clause is a clause with

a) at most one negative literal b) at most two negative literal

c) at most one positive literal d) at most two positive literal

(li1) Treating the word “board” as noun or verb is example of



a) Lexical ambiguity b) Syntax Level ambiguity
c¢) Referential ambiguity d) None of these

(lii1) When the meaning of any sentence depends upon the meaning of the
sentence just before it

a) Discourse Integration b) Referential ambiguity
¢) Morpheme d) None of these

(liv) A grammar that consists rules with a single symbol on the left-hand side of
the rewrite rules

a) Context sensitive grammar b) Context free grammar

c¢) Pragmatic analysis d) Semantic Analysis

(Iv) Disadvantage of Top-Down parser

a) 1s inefficient, as the search process has to b) is inefficient, because complicate to
be repeated if an error occurs implement

¢) both of is inefficient, as the search d) none of these
process has to be repeated if an error occurs

& i1s inefficient, because complicate to

implement

(Ivi) What kind of ambiguity of the following “Rima went to Gauri. She said,
“I am tired.”

a) Referential ambiguity b) Lexical ambiguity
c¢) Syntax Level ambiguity d) None of these

(Ivii) Expert system without knowledge base called
a) Shells b) Tools

c¢) user interface d) none of these

(Ivii1) In partial order plan. A. Relationships between the actions of the
behavior are set prior to the actions B. Relationships between the actions of the



behavior are not set until absolutely necessary Choose the correct option
a) A 1s true b) B is true

c) Either A or B can be true depending d) None of these
upon situation

(lix) What are you predicating by the logic: ?x: €y: loyalto(x, y).
a) Everyone is loyal to someone b) Everyone is loyal to all

c¢) Everyone is not loyal to someone d) Everyone is loyal

(Ix) Which of the following option is true?
a) If the Sun is a planet, elephants will fly b)3+2=81f5-2=7

c) 1 >3 and 3 1s a positive integer d) -2 >3 or 3 is a negative integer

(Ix1) Let P: This is a great website, Q: You should not come back here. Then
‘This is a great website and you should come back here.’ is best represented

by:
a)~PV~Q b)P ?~Q
c)PVQ d)P?2Q

(Ixi1) If X and Y are S-expression then (X.Y) is a/an
a) S-expression b) Atom
¢) List d) Predicate

(Ixii1) What will be the output of the following LISP statement? (print 'Atom)
a) ATOM b) A
¢) TOM d) ATOM infinitely

(Ixiv) What 1s the output of the following LISP statement? (print 'list atom)
a) LIST-ATOM b) LIST
c¢) ATOM d) Error



(Ixv) What is the output of the following LISP statement? (print '(list atom))
a) LIST-ATOM b) LIST
c) ATOM d) Error

(Ixvi) Which of the following is part of basic syntax in LISP programming?
a) Primitive b) +
¢) NULL d) #include

(Ixvil) What is the output of the following LISP statement? (* 2 3 4)
a) 24 b) 234
c) 32 d)4

(Ixviii) In the syntax (setf argl arg2), what is argl?
a) Value to be set b) Variable on which value is set

c) Set of lists d) Set of elements forming a list

(Ixix) What can be used as an argument for a primitive?
a) Atoms and List b) Another LISP programs

¢) A user-defined function d) Atoms, List, Another LISP program,
Used-defined function

(Ixx) NLU s
a) Natural Language Processing b) Natural Language Understanding
c) Natural language Generation d) None of these



